4, Verify that (@ + b)) + ¢ = a + (b + ¢) by taking

(a)a=——2,b=§andc=_—5
3 6 8

9 -9

— = —_— d =

L= ihl 5 T

(© a= -1, b=(%2) and ¢ = e

5. Find the additive inverse of each of the following:

®5 O ©18
17 15 =5
)= ©es @ =
=5 —42 :
R O @ -8
S pD
U=
i. Subtract :
(@) ;—fromg (b) 6 from % (© —74&orn %
. Subtract :
(a) 0 from ; (b) ;from 0

Are the two results same?
. Add the following using the rearrangement

property:

10.

il

12

13.

14.
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2. Add the following rational numbers : 5 ndd van 11
= 14 & a) —+—+—+1+——
(a) —;—7nnd—_2/- (b) 1—;)-mul—58- (© %n.‘f,l - @ Z 58 3 2 1157
(d) %and?‘;—l- (e)0a11cl—?4. (b) §+_9_+O+_3—+ZI
3. Verify that @ + b = b + a by taking o R
3 2 -3 (c) —ZT e ﬁ + 7 +1
(@ a=6and b= — (b)a=-3—andb=—7—
3 54 7 @ 2+24 242
— __ — -_—- - =_— 3 e T _2_1 5 !
(©) a 7 and & - d) a 3, b TS (9

The sum of two rational numbers is -i— If one of
the numbers is :6-1-, find the other.

The sum of two rational numbers is -2% If one
of the numbers is %, find the other.

—7/ 1
What number should be added to i to get EZ?

—1_

z

What number should be added to % to get

What number should be subtracted from —2% to

3
et —?
g 4

State, yes or no.

(a) Is the sum of any two rational numbers also
a rational number ?

(b) Is addition of rational numbers associative ?

(c) Is addition of rational numbers commurtative?

(d) Is negative of a negative rational number
positive ?

(¢) Is subtraction of
commutative ?

(H Rational number 0 is its own additive
inverse ?

(2) Rational number 0 is additive identity of
rational numbers ?

(h) Is the difference of 0 and a rational number,
the rational number itself ?

rational numbers




